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6. In trevoliiuig over th Canaiidîrian Pacific Rtilway fromn Ottawa
to -Montreal, a distance tf 100 miles, a person observes by Iis
watoi that ho passes a ilito-stonle overy 3 mintutes, and a telograph
postevery 6 seconds. If the train is going unifornly, find the num-
ber of telegrapi posts passed over.

7. A father gave his two jhldroi, Jameos and Lucy, $8.60 and
80.80 respectively, tu buy lunchoons for thoir holiday party (the
luncheonrs all ta b of the samle sizo and as costly as possible).
James was to invite the boys so that there would bc one boy for nai
lunchreon purchased with hisrnoxîoy, anîd Lucy the girls, with a
similar Pinuderst.andig. How nany of each were invited ?

8. Suppose a bin 5 ft. long, 5 ft. wide, and five ft. high to hold
exictly 100 buai. grain ; find the height of a bin 12J ft. .sq. that
will hold 750 husirels.

9. A school of 50 ohildren·is kept open 44 weoks during the year
and 5 daya during the week. The children pay nothing for the
days they attend, but forfeit two cents for ovory day they are ab-
sent. At the end of the year the payments for absence amounted
to twenty-five dollars ; find the average daily attendance.

10. A man dying loft his property to b divided among his widow,
3 sons and 4 daughters, as fullows -- the widowto get ialf as much
again as a son, and twice as nuch as a daut'hter (also ne twenty-
fifth b was to h deducted for expelises). ft was found that each
daughter received 81,800. How muci was his property worth Y

11. A father and son by workusg 9 heurs a day can finish a piece
of work im 8 days, the fathor doing tiwice a nuch work as the son.
How many hours a day would the son alone have to work to finish
a piece of work five tines as large in 90 days?

12. If by solling a c tp for 82.50 I gain à of the cost price, what
fraction of the cost would rapresent iy gain iad I sold it for thrce

.dollars?
13. Divide 620 marbles anong James, John, Ton and Alex., se

that for overy 2 James gots, Join nay get 3, for every 2 John gets
Tom may ret 5, and for every 2 Tom gots, Alex. nay get 7.

14. A c.n do a piece of work n 5hrs.. B in 6, and in 8. A
works at it by himself in I½ lirs., thon B by himself 2à hrs. How
long will it take C to finish the work?

20. What fraction of tho distance rutind the earth will ropresent
the width of the North.-Toemturatc Zoie oo

27. Flnd the cost of plastering the walls of a33 fot
long, 18 foot wido, and Il foot high,-making allowanco for 6 win.
dows each 6 ft. by 3 f t,, two doors reaching to tho floor, each 7 ft.
by 3A ft, and wamscoting round the room l ft. iigh,-at 18 cents
a yar~d

a (Suitions to the above will be pib.lshed next week.)
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SOUTH GREY PROMOTION EXAMINATION.

2oth FEBRUARY, 1885.

ARITHMETIC.

CLASS III To IV.

1. I buy 72 barrels of flour at $45 for 8 bbls., and I sell them a
1$17 for 3 bris. Find how much I gain or lose.

2. I buy two dozen oranges, and sell theni an that in gaining 40
cents, I receive as much for 2 as I paid for 3. Find the original
cost.

3. Find the amount of the following bill of goods -
3 Ibs. Coffee @ $0.31
G lbs. Tea @ $0 60
1Ô yds. Print @.$0. 11
12 yds. Tweed @*81.25
8 Iba. Sugar, at 10 lbs. for S.00.

4. Find tho price of 1555 lbs hay at 87.00 per a ton of 2000 Ibo.
5. Divido 1 furlong into Il equal-parts, and express oae o! those

parts in por yds., ft. and inches. -
(Accuracy and neatness of work should receive special credit.)

GEOGRA.PHY.

15. If 3 men, or 4 wonen, or 5 children, can be boarded a week 1 CLASS III TO IV.for $7.20; how much ivould it cost to board a man, his wife and 1 Nane ail the railways ii tie county of Grey, and the princi-
4 children for 13 weeks ? stations oneach.

16. A owns 1? of a potato plot and B the remainder. When tire pan
potatoes are dug in the fall it is found that onre-third of the differ- 2.
enlce bet.ween their chares is 42 bush. 2 pks. Find low many bush. 8. what places arc the folewing articles obtained :-Cod-
belong to B cte17. nerrn tra B ine 8 -5 .4,t 12 fish, seaiskins, coal, iron, copper, silver, cetton, tobae.-o, rice, Bug-,

17. A merchant has 9 times or - - acres of land. If ar-cane, salt, popper, iutnegs.
n~~~~ cf G'c nace8~ 7k ii1 4. W1hat and whcre are Good Hope, St. Louis, Anmherst, Janrarca,

19 of .. - 5 of G.' of an acre of it b. sullfrtretosn i1 ?ý cf +2fiLb sl fur three tirousand six. Gcderich, Durhîam, New Orleans, Brandun, Moîrtreai, Liverpool;
hunîdred and fifty guine.is, find the remnainder in $ and c. (la =Cayenne. Rine, Malta, Alps, Nue, Slave, Race, Trent, Ceylon,
241 c.) Edinburgh.

18. The widti of a large hall is e its length, and the distance 'à. Explain clearly what cataract and rapids are, and name twe
round its walls is 112 foot. Find the difference in cost between celobrated cnes cf ci, ii Canada.
carpeting it with carpet 21 inches wiide at 874 ets. a yard, and with
carpet 35 inches wide at 81.25 a yard.

19. Mr. Jones ias a U interet in a mine. If ie sell ? of his
interest, what decinal will represent ihis interest in the mine then? 1. III TO pio

20. At the first quarterly examnation 2long:-(a) Oftlad Ireard cf Lucy Grey. (b) Botter than gran-
examined in arithnetic, ·27 in history, -140 in gramiar, and the deur isa healthy body.
remaining 41 in readrng. How many children vero in the school? 2. Uî- o tie plurals cf :-Two, fife, roof, duty, pea.

21. The yearly salés of a goneral nierchant amounted te twenty- 3 Di-ide the folcwing sentences inte subjectand predicate, and
nine thousand ona lundred dollars. On groceries whici formed pars the words in italios
one-fourth of the sales he made a profit of 20% ; on boots and (a) The litie cld white man with a short gun, ras a dog wilh a
shoos which formed one-fifth of the sales ho made a profit Of 30% ibobtil
and on dry goods which formed the remainder ho made a profit of (b) Did you find ny bock?
331%. How inuci did tie nierchant make during tie yearl 4. Correct:-" Each book.and siato werein theirplace." "Itis

22. A liquor-dealer bouglt a barrel of beer for twelve dollars not me was te do it." "Te boy who yen saw, has went home."
and twenty cents and retailed it at 5c. a pint. Find Iis gain per It WVrre's thor other fellows." "John is the oldeat cf the two"
cent. I Lot you and I try ta carry it.

23. Fanny put $204.40 in the Postoffice Savings Bank on January
17th, 1881, for which she would get interest at 4%. How much DRAWING.
did sie receivo froin the bank when she withdrew it March 14th, MASS III TO IV.1885?

24. Four moin hired a pasture for $45.00. Tho firat juan put in 1. Draw a vertical lino 3 inches in length. Triaect àt. Draw5 cows for 6 iwoks,1 tire second 4 coni for 7 wecks, tho thiird 3 cows anothur Iije parallel te the firct, and one rc distant. Trisecti-t
for 8 woeks, rend tire reurtir 2 cows for 9 weoks. Bow nîuci should Connect tire two points cf trisectron by horizontal uines. Biseet
cad pay of tire 845.002? each aide cf the squares thus frned. Connect the pcints of bisec-

25. Fird tire cust cf building aaid-wak 4 ft. -%vide, on bot8 aides tie w p by htraiglt linos forfnoing a second st cf squares.
of a street, a quarter cf a nile long, witi 3.irch plank, and castrgisg 2. Draw a ,osette te illustrato symrotrictl arrangements about

d8.00 a thousaNed. Oa centre.

i


